
Fete, Time, Occasion, Chance and Change?

. . . ..to these all things are subject

Percy Bysshe Shelly
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-$J 1 2 3 4 3al.l

+ 3 1 4 a 1 0 3 5

- 1 5 4 1 0 a 3 7

3aa.J 1 8 18 18 1 8 7 2

.x2 = &b*+14*+8*+ loj- 1814)135)/37  = 13.955
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‘i -2 .-1 5 13 6 9 8 -4 14 7

R.t 2 1 4 9 5 8 7 3 10 6

T; z 4+9+5+8+7+10+6  = 49

T, = 2+1+3 = 6

6Jl.h T = min (49.6) =6
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R,‘96.5 153.0 207.0 38.5

l-i  =
12

34(34-l)
(196.5*/9  + 153.0'/10+  207.0'/7  + 38.52/8)  - 3(34+1)

zs 25.46
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E(Rt *(30)(201  ’ .+1=25

V,Rj = 2?:#20)(2(30)  (20)30-20)
= 11.265

(3O+2O)2(3O+2O-1)

2 =[35 - 2$*=  2.98
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E(R) = (l/3)
I
2(26-l)

1 = 17

V(R) = (l/90) 1,16(26)-29 = 4.3

2 = 19-17 = 1.4

'II  66 69 72 65 113 65 118 45 141 104 41 50
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“1 = 12 n2  =’ 12 R = 4

E ( R )  =  2(12) (12)+1  =  13
12+12

V(R) = 2(12)  (12)  2~12)  (12)-12-12  = 5.74

c12+1212 (12+12-l)

2 = 4-13 = -3.76
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“= I:(xi-~i-,)2  = 273993/43 f5591.69
A-L

s’.=  Lix+,*  = IlXZ-(ZX,7n  _
n n

=  5 9 8 6 2 8  -. (4864;,50 = 2 5 0 9 . 1 6
50

VNR = ‘$Si = 5591.69/2509.16

= 2.229

Z= VNR-E(VNR) = 2.2-29-2 i CWb

Jzz 1J4150

8.4.2 rluunGlilDlJ~nahhd  (Kolmogorov Test)
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H :  F ( X ) =-  F(X) ; V
0

Ha: F(X) # F&k  i 3:
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X 76 78 80 82 83 84 86

F. Ix) .274 .320 .371 .421 .448 .472 .528

S(x) .361 .389 .444 .5OO .528 .611 .639

d .087 .069 ,073 .079 .080- .139 .lll

X 88 90 92 93 94 97 98

Fe(x) .579 .629 .681 .702 .726 .788 ,808

S(x) .667 .778 .806 ,833 .861 .889 .917

d .oaa  [.  .125  .131  .I35 .lOl  .I09

d 1 .046 .019 ,036

D = ,zx S(X)-F,(X)
I I



(1) H o: F(X) = G(X) ; Vx

Ha: F(X) # G(X) i Jx

(2) H,: F(X) L G(X) : v,

Ha: F(X) 1 G(X) ; 3,

(3) Ho: F(X) 2 G(X) ; v,

H a : F(X) L G(X) ; jx

H o :  FIxI =  G(X), vx

H a :  F  (xJ  = G  (~1;  3x
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X y S)xL-s2  (x)  .x  y s ,  !X~--s2W

206 l/5- 0 = 6/30 251 4/5-3/6 = 9130

209 l/5-1/6 = l/30 252 4/5-4i6 = 4/30

224 215-116 = 7130 257 5/5-416 = 1000

230 315-116 = 13/30 276 1 -516 = 5/30

236 3/5-2/6 = 8/30 276 l - l = 0

236 4/5-2i6 = 14/30

D = "xxi S,(xb--s*(x)1 = 14130

01fl01157J& m=5 LltX  n=6 tU'X&.dhd7&tg  .05 %b%Tp  D L&4 213  = 2Of30  $J

Ilijtaa  Ho  WI6  ua~Ji7aoJ~ai?eli7~1~~~~n~~~~~n~~~~~~~u~~~L~n~l~~U
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